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Mit: & 5 * 75 2 4 ¢ £ (g)

Vmix: #F R R & F B2 5 25 HBBEMLMHE (L test) o
Qi+ A 4+ %4 ZBEML B A (/L)

Qco=1.1451 g/L -

QchH1.85 - 0.5671g/L >

Qnox=1.878 g/L -

Kh 23+ 8% §F tHE£E2PFHRBAELBE B8 (3% CO-
HC p# 5 1.0)

Kh=1/[1-0.0329%x(H-10.71)]

H=6.211xRaxPd/(Pb-(PdxRa) x0.01)
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CNS 12017 A # 2 R 72 A S 3 A o H % & (0 £)2 API
g R (0 E )

25



27 RBmEFER

oo B =2 B Wk P A &£ 7 p W R

# i 3! i % o+ B

CEE ! 5183150 L e

2 gl 51 EF 5LAG LRI

2 fa s i L| % i

Wi &> R i mmxmm =

2 B cm|F Aok =

> % cm| 17 ¥ rpm|i# T A

E®ER cm|B = g 4 F kW & rpm I

E3 £ kg| B * #5 1 4E _N.m> A& _rpm [ 2R

512 ¢ kg| 7t i s

o ; T K

i re W@ R C AR EECES

Bt A HBER W 72 A B &

LRSS #__ kglem®» 5 kglem? CO (- # i*#%) g/km

S i km HC (st & * & +) g/km
NOx (% 3 it %) g/km

26




308 AP (EEHH)

TS IS "l i i
CNS 12017 (b % R R % b A 5 %
% A (15C) 0.741~0.755 Btpmr (LE) & APL L £ 2
2 (v EFE))
CNS 12012[ 7 i & 53 = F f /& &)
T ik (kPa)56-64 [7# 2 &5 % &5 B#H
Z4#%(C)
A P g 24~40
10% 42~58
50% 90~110 CNS 1218[ % i & &2 F A a5 %]
90% 150~170
ey 13 185~215
A4E (WI%) |53 2
A5
(Vo) CNS 3577 (%4 7 i & & ° |
- TS A &Y A 2
P &% 10 Bk (A %Mok
¥4 5.3 45 Heseix (2 qresie )]
b folm T
o CNS 12014 [ %3 § 48 212385 % (3
o fEE (A) |B 1480 ,
FrRETE (&) N,
‘ CNS 6360[ 7 b & &-Fis ipl %% (§ 3
SRR W%) |3 004 ) (70 & manm b (5
=
s 58 (gL) 5. % 0.013 CNS 12013 (54 5 4o B %z (B3

Bk kg a2 ) )

%
1:
2
3:

.F"
R LAY 0 R R REERS
AR v FIREE KR

FARRLEE RPN P BT R SR o
Pyl e R Se it 7 e B EH 2R o

BT E P AR R D R S FRMRT AT R 2 (- )~ 4 &2
i g X2 P BT o

27



# 9~

\\\?{r

B E SRS £ M

BL9BET ] P pREE)

(i *
£

G s s € m| & Hhigdre TH AR ik
Mrer (kQ) (kg) ‘a’ (N) ‘b (N/(kmv/h) ()
95 <mps = 105 100 8.8 0.0215
105<mer =< 115 | 110 9.7 0.0217
115<myr < 125 | 120 10.6 0.0218
125<myr < 135 | 130 11.4 0.0220
135<mer < 145 | 140 12.3 0.0221
145 <myr < 155 | 150 13.2 0.0223
155 <mes < 165 | 160 14.1 0.0224
165 <myr < 175 | 170 15.0 0.0226
175<mys < 185 | 180 15.8 0.0227
185 <mpr < 195 | 190 16.7 0.0229
195 < M= 205 200 17.6 0.0230
205 < meer < 215 210 18.5 0.0232
215 <M= 225 220 19.4 0.0233
225 <M= 235 230 20.2 0.0235
235 < Myer< 245 240 21.1 0.0236
245 <ms= 255 250 22.0 0.0238
255 < Myer= 265 260 22.9 0.0239
265 < Mr= 275 270 23.8 0.0241
275 <Mpr= 285 280 24.6 0.0242
285 < Meer =< 295 290 25.5 0.0244
295 < meer= 305 300 26.4 0.0245
305 < myr= 315 310 27.3 0.0247
315 <myr= 325 320 28.2 0.0248
325 <myr= 335 330 29.0 0.0250
335 <M= 345 340 29.9 0.0251
345 <M= 355 350 30.8 0.0253
355 < mrer< 365 360 31.7 0.0254
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365 <M< 375 | 370 32.6 0.0256

375<me= 385 | 380 33.4 0.0257

385 <M= 395 | 390 34.3 0.0259

395 <M< 405 | 400 35.2 0.0260

405 <me< 415 | 410 36.1 0.0262

415<me< 425 | 420 37.0 0.0263

425 <me< 435 | 430 37.8 0.0265

435 <M< 445 | 440 38.7 0.0266

445 <M= 455 | 450 30.6 0.0268

455 <M= 465 | 460 40.5 0.0269

465 <M< 475 | 470 414 0.0271

475<me< 485 | 480 42.2 0.0272

485 <M= 495 | 490 43.1 0.0274

495 <M= 505 | 500 44.0 0.0275

% 10kg % 10kg a = 0.088m, p = 0.000045m; +

= BREH] 4o n BREH 4o EEER A IE . he (3?0?0;1 HeoL5 i
=1 851

() BARE 7 22 5B 2 # 2 A2i8130 km/h > fo Pt BB B i@ 2 TR 4 3t

b A RacbE I RUEAADE ) @b B S ET ] -
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% po [FEEH = (mZe}fz) (krsrT/h) [PTEE Py (s)% e
1 1 i 0 11 11 11 6s PM+5s K
2 vig 1.04 0-15 4 4 15
3 Tk 15 8 8 23 (VR
4 ki -0.69 15-10 2 25
5 R HELE | 0w 10-0 > s K
6 1 & 5 0 21 21 49 165 PM+5s K
7 vig 6 (074 0-32 12 12 61
8 Tk 7 32 24 24 85 (XY
9 ks 6 -0.75 32-10 8 " 93
10 R B LEE -0.92 10-0 3 96 K
11 1 i# 9 0 21 21 117 165 PM+5s K
12 vig 10 {053 0-50 26 26 143
13 c&id 11 50 12 12 155
14 i 12 |-0.52 50-35 8 8 163 EPRRP R
15 c&id 13 35 13 13 176
16 i 088 35-10 9 . 185
17 Bk s RS E -0.92 10-0 3 188 K
18 1 15 0 7 7 195 7s PM
KL IPM=Z 4 2 BRE R Kt ¥

30




£ 11~ B BYPRZED B 7E AR

. . . E o 9 12
' OOF wow 2o B~ fr%%effz) irﬁ/h) ;z i tt = ()" TR |
1 1 1 20 20 20
2 beig 0.83 0-15 5} 25
3 = F 2 27
4 beig 0.62 15-35 9 36
5 Eg s 2 2 41 38
6 beiE 0.52 35-50 8 46
7 I 2 48
8 beig 0.43 50-70 13 61
9 TR 3 70 o0 50 111
10 i 4 -0.69 70-50 8 8 119
11 ik 5 50 69 |69 188 YN
12 buiE 6 0.43 50-70 13 13 201
13 TR 7 70 50 50 251
14 v ik 8 10.24 70-100 35 35 286
15 ik 9 100 30 30 316
16 beig 10 {0.28 100-120 20 20 336
17 ik 11 120 10 20 346
18 i -0. 69 120-80 16 362
19 i 12 |-1.04 80-50 8 34 370
20 Rk BRHE R -1.39 50-0 10 380
21 i 13 20 20 400
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